Moath StH0
H(/\J 1 Colubons




D) S=5 (1,1, (,2),01,3), (L4, (1,5), (1,61,
(z,1), 2,2),(2)3), (2 1), (2,5), (2,61,
(3,()/ (2,2)/(2,3)) (3 4 )j (g)s‘)J (3,6
(£,1), (4,2),(%,3), (f 1), (4,5), (4,6
(¢,0), (5,2),(5,3),(54), (5,5), (5,61,
(6,1), (62),(6,3), (61), (6,5, (é}é)}

P(i("\)\o}):"g‘_@ foc ang (a,b) in S That 15, each

element of S s e—‘f?\)o\\\-.’ Weig\«\e&. TL E s an

|E)
\=_

- e\ _
evenk then P(el = =< =6

|
)J
)J
|

g; ? (\,3\) (2/

(1,1, (\,3\/(2;

u,(z)\\}

2y, (3,\)]
O(c) AVR=1

q
A = i o\ €lements of S except -

=5 (,2),00,3), (LW, (1,5), (1,61,
(2,0), 2,2),(2,3), (2 1), (2,5), (2,61,
(3,1, (3,2),(3,3), (3 ), (3,5), (3,61,
(%,1), (%,2),(%,3), (¥ 4, (4,5), (v,61,
(5,11, (5,2),(5,3), (54D, (5,5), (s,61,
(6,10, (62),(63), (642, (6,5), (4,61 g



E =2 all
{ e\cmu&s of S except C\,3\,(2,2\,L%,\\}

=5 (0, 02), (5 (1,5), 01,61,
(2,3), (2 1), (2,5), (2,61,

(3,2),(3,3), B, (3,5), (3,61,

(#,1), (4,2),(4,3), (41 ), (4,5), (v,61,
(5,0, 5:2), (5% (su), (5,5), (5,61

(é)\)/ (g}z)j(éﬁ)) (6 )j (G)SL (6)6) }

(4

G\\\ ‘\‘\/\e ro\\S w heece '\‘lma

AUB consists of
SUM Op 'H«zo\c'cc (< ei-Ha,er /2 ar Y

AQOY consists NPAN e collg o lrert +ha
Sum ot Fle dice S < N S oY
Llo Some Time shick S PSS INALY
\enea KNS i emety

—_[';ﬂ- CLW\S;{\—_S' oQ e\ i e o \\S ok e di(
e e & the SV~ is not 2

’6— ConS\STS PR e co\\S ok the dic®

SIym \S nc-\— (ﬁ

whec & '\"AC’






@ (Gt)

g=% (1L,L, (,2),01,3), (L4), (\)S\)(\jelj
(2,10, (2,2),(2,3), (B ), (2,5), (2,61,
3,1, (3,2),(?,3)) (34), (3,5), (?je)J
(¢,1), (¢,2),(4,3), (¥4 ), (q)s‘\J(vjé)J

(5,0, 52), (5% (s4), (5,5, (5,61
(6,1, (6,2),(6)3), (&)1 ), (6,5), (6,61
P(i("\\ﬁ = == for
o3) cny (k) in'S. That 15, each

36
eement £ S (S Q?,,uc\\\\, weig\«\e&. TL E s a
Lo s an

cuenk then P(ElI= 1=
s\ 30

® ()
A= 3 (1,2 (1,4, Lhel
(2,1), (%)) (23, (z,\())CZ,s),@,g,\)
(32), (3,40, (3,6
(y,1), (42 (y,2), (1Y (4,51, (461,

(S)?’\) CS)L")/ (.S)é\/
(é,\),(é,u, (¢,3), Lo, [¢,5), (6,6 )}
o), (4,2, (1,4, (4,6),



C = (1,0, 012), (5, 00, 01,5), e,

(2,\), Cz,g),CZ,Q)
(3.0), (3,2), (3,3 (54, (3,5),(3,6),

A=D
BAD = P
BUD = iC\,\\,U,?\,(\,g), (2,2) (2,%), (2,6))
(3,\), 3V (3,5, (42 (4,4, (4,6),
(6,4Y, (6/6) J



A(\C Gre the dice €o\\S where 0One ot th
c
cnd.  8ne ok e d.ice S ocLA.

collg wheare l,oth e

ace o&L.
RUD Are o aice ('o\\g \/J\Azre, Q'\—\MC
\,ot\n Aice oce even or Lot dice «¢ ek
ROO 1S erv\()—\-\j since X conSIStS ol
Lo Oice o NE where Lokl d-CC arl
e ven nd Lot AE ~2 0dd) ol E
o X o€l
@)(e)
_ oAk % 27t
(M= Z¢ PR= 3¢ p(c)= 36
A 18 —_ L =
P(_D\’-" 36 CP\(\C\—— C p( D EETA
\3 — 2+
P(ead)= D0 o(puO)= 36 p(8)= 36
[



) (e
5= E(H A, i, w), (W ), ()W, T, W, (v, 4,7,7),
(&, T, Wu), (W8 W), (T (W,T,7,7),
(T, H, 1,0, (T, KW, (T, T, W, (T

(7,7, WywY, (D &), (T T8, (T lT)}

D (5 (oL, V1) = (G

Thek 1§ The element s &ce eguelly we_'\\c,lnir&dw
T E 5 an e vent then
el 18
p(el= oy~ \6
R (L)
W,T,7),

A=$ (k1 W, (W 1), (w4, T, W), (W,
(1, T, W), ({6 W), (&, 7,7, 8, (&, T,7,7)

B= 2 (W, W), (0,0, (T, W LT, Tl



3) ()

AUR =
@ { (HJ l—‘j H} \‘\\) CH/H/ H)’T), (\‘\,\'\)T/ “\} (\'\/H)T}T)/
(\J\‘)TJ \J()\_\\) (\'\)T) \"HT), (H)T)T/H'),(HJTJTJT)/

(1,7, W), (T, 7,7

K = i(T) Hj H} \'\\) LT/H/ HJT\’ (Tl\\ T}T\/
(1,7, W) QR AvAY (Th UT)}

S0, H, 1w, (W), (8 W THY (o 4,77,

=
(&, T, &,w, (7T,
(T)Hj HJ\—\\) CT/H/ H”n’ (TJ\‘\)T/ H\) (T/H)T)ﬂ/
(T,T, WY, (7, T

®)(4)

AUB Qre Yhe c\emcn"'c ‘H«A\ ei-\—Lo/\ bevif\ witilh & I/\QQ}\
oin e ‘(:;fﬂ'\' c\tg QE have & 4zl On r he
fecond Of LHue £\ '

ARG are Ythe olomeatl with hood§ 0N the Bt
Flrp and buls 0a The recond @nd foveth £ 1(ps
A Gre \'\«2. c(ew\ev\H ‘ch\' Ihave & +eonls on ‘e

‘G("S'} 'F’\pA

A
B acc Ahe elements whece either Fhe Second of
e Boctl. £hp 75 & heads.









©

S = g[ljl})(\)Z\/(_\;S)/(\)l«)/
(3,0, (3,2, B2 (2,),

C

p({Ca 3 2 -7

S +L~Q. LKQN\.(LV\.‘\'

ok | _LE—\—

cack Ca)\o) ‘A

¢ Qe egoally

Cz,\\/CZ,Z\,CZ,E)/ (2,4),
(4,\), (4,2, (43, (4,4 ¢
S,

we-i?(/tko\.



@ The sample Spaw 1S
= '{ (9,r) \ J =l,z,1,q,s,e)':,,g}
9 (L0, G2, CL3Y, 0,4, (1,5), (1,6
(2,0, 2,2), @3), (W), (2)5) (2,6), (2,%), (2%),
(3,0, (3,2), 3,3), B,4), (2,5), (3,6), 3,%), (3,%),
(1), C4,2), (3, (7,4, (1,5), (%,6), (v 1), @,8),
(s,)), 65,21, &53), &, 1), (s,5), (5,6), &,3), (s,%),
(€1, (62), (6,3, (6,4), (6,5, (5,6) (¢ 3), 6,3),
(3,2), (H3), (BY), 3;5), (3,6), (#7), (%,%),

), (), F), 0,%),

(z,\),
(8,1), C&2), (8,3), (8,4), (§,9), (§6), (&3), (g)g)}
Al the e\ements &t C%—uo\\\y we'\&l,\{.(o& So
el - 1€

an euvemt }heun P(F,\= <) zq



Let A be +he everd Hhot e red die e s
[/ [wur&r value 'Hr\am ']"{nﬂ. 3{‘224,\ o“e. TI’ULV\/

=5 (1,2),01,3), 0,4, (1,8), (1,6), (1,7), (1K),
(2,3), (2, q), (2,5, (2,6), (2,7) (2,8),
(3,4, (3, 37 (3,6),(3,2),(%,8),
(4,5), (4,6), (4,7); (4,8),

(s,6), (53),(S, ®)
(Gj:f)l CG @)
(?,%)}
AL _ 28
Thes, P(AY= 5 64



@ S = i W, K} G_"ﬁ
L
P(Tw) =3 p(ERN)=3 p(563)=~
3

(B s-7 1w 10,6, TR0 ]

ok Si

e Y

\'C\S\eac)\ oQ ij'\t\ Lecewie W

o book e srder . 1 SPNEN CV))R\'—#(@)L’)\

s fwjﬁzj'—‘—ée,w%-

i\,\)jﬁy re-PreSeA'l'.f c hoos\ng \ Ot le and l f‘ec}\
\ao\\\

\,0)6'77 \'P-Pre.Se/\{'_f c hooswng \ W\ e and ( 9ieeq
\ao\\\.

iK,G’y Ve—PrQSe/\{’I f—‘/\005§z\3 \d‘eo'\ ar\A [ gl‘een
\po\\\.



DC%(\& 2 oa Fest ro\r\% on Znd Pa\D
(9 Debne_—

l/"/ 4, z\
g = ? (2.) Cl 2) 2'\ C -
), (3, 1,20, 1 3«0\

(\\z)(\zzs(l% |
(3,3,0), LZU\z\ (4,1,2)) (4,321,

> on UM, Fh SH,, bth, -
(0,00 5 oo fm(\\
oy Qz,) - a,\—\ 3“\}
\ o ~ck “>[

e X per'\MQn‘\‘ s wey

—%(Z\ UE(Q\,&Z) & a

T defsae Ptk of Fhe
7 P(a\')r/\(')\ ‘.b/ s - 1 2
(2\ Pf'\oa\'(\('\—‘](s(q\ iy s (TU
(' 2) (4, 1,2) probebility
\
y Y
(1) 14 — ON
' £ (1,3) Tree Feps o
/0{ Yy 7 Loresen W'}
(1Y) Stops Ay eack
| \ i Sp_o\' wifh
Srod /L{ (3) Yu proloo\l» (lihes
\/L( v :;v’ (32 {(\ 9(\921\
s, 0 — -
] ll:; )
< g

T -






We huve et

P(s)= S P(3w)

WeS
_p(sl)
(1,2)3)+ \’(Eca,z\’x\a—?(i(‘(,zﬁ)

+ \’(fﬁb\)l\?)ﬂ-?(ﬂ: )%,LH) + ?(i(l)tf,m)
L33, %) +V(i(3,%,zm




Smce_ ’O’_\’\,\\i _(C S‘oHnS—@.es aﬁi‘b{?’;
S o Q ‘H«ﬂ— CJJL‘Q’ O‘C \aroloo\n (
o

A xiom @ ¢ hrve Cince W€
P(E) -~ S P(iw-ﬂ.

wet



@ SQ@. ‘H’l& Sold‘l‘;D/\ ‘Fbr ol

\oefwe —eod 1ng e, We do
e Same jolee Lot T pot more
d.e.&—m:\f (A Hno_ Solu'HDA '(:o( 01‘




ket \

Defnz k
(3 G)E)

V(ﬂgl;is“)z‘ )=
—
le + o \S
Pro\nu‘ol..l(fij (/& P\Cj
Uz
[),okm\ollﬂj ¢
chal¥ (1, 4) 0/2) ( () = ( /2)
\/L \i2 S F,.o(ou(ot‘ [ty
(7,7, t) | (L)-G)6)
, y Uy ’ - JZ: 3
(1) N
y e
C'TJT) Z Y, V2
(7,7 %



@j how W& delraed _(L, 2wl
S aisly axloms @1@,@ ox =~

(4\40\\0; \(*\3 SPC\C—Q. |
v e Hined PJ P\l

ISR b (50T W)
+P(?(T,T,H)§\+ p(5(T,T,T, %)

— _L_ L
| -z

A 5 _ \ L /\-
\+x+xw+..__,_)_x L oL 3
A 17(\<.1?: _ \




